REHX (FHEE) 2023FE B =FFNRBHRREALHEL L

F% | #4 ExY: wAxn | e [T s
1 Fet 7FE UK HAEBFRAE RERR =R 30%%2000 600 Z b
2 K E 7% (KR HAGARAE Bl R =% 30%%2000 600 2
3 HOLT 7% (K HA&ARANE BEEBRR =R 30%%2000 600 b
4 E- 1 FE (JFE) HABARAF BRERR =% 30%%2000 600 2 1
5 B X H# ®E K BABERAF BEERR =R 30%*2000 600 %k
6 HER FE (JFE) HABFRAF EREERR=ZR 30%*2000 600 2 I
7 e 7% (JFK) HARARAE TRAR R =R 30%%2000 600 ol
8 B X H 7% (KR HA&ARAE Bamiei R =% 30%%2000 600 2
9 A K 7% (JFK) HARARAF BERR =R 30%%2000 600 L
10 AR 7% (JFR) HAGARAE BEiei R =% 30%%2000 600 21
11 A¥ & 7FE UK HAEBFRAE RERR =R 30%%2000 600 b
12 ki FFE (FE) HARBAFRAF BRERR =R 30%%2000 600 21
13 I# ®E K BABERAE BERR R MR 30%*1500 450 %k
14 F X FE (FE) HABHRAF iR R MR 30%%1500 450 2 I
15 o B ®E K BABERAF BERR R MHE 30%*1500 450 %
16 PR 7% (JFR) HAGARAE £ e B 7K 30%*1500 450 21
17 P 7% (JFK) HARARAF & R R 30%%1500 450 L
18 B 7% (JFK) HAGARAE i I R K 30%*1500 450 2 1
19 Rk 7% (JFK) HA&ARNE &R R R 30%*1500 450 b
20 H R 7% (JKR) HRABHRALE B AR I 7 R 30%%1500 450 21
21 H#AE % (JF) BRASARAF & AR R R 30%*1500 450 %k
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REHX (FHEE) 2023FE B =FFNRBHRREALHEL L

F% | #4 ExY: wAxn | e [T s
22 JEAE# 7% (&) HA&ARNE & R R 30%*1500 450 Z b
23 REZ 7% (JKR) HRABHRALE e I R K 30%*1500 450 2
24 it g% (K HABARRE B EAR R R 30%*1500 450 b
25 T2 5% A 7% (JK) HRABHRALE R R K 30%%1500 450 2 1
26 FHFE 7% (JFK) HARARAE EREEBRER 30%%1000 300 ol
27 N Z FE (JFE) HABFRAF BRAR AR 30%%1000 300 2 I
28 H1E # g% (JFK) HASHRAE B R R ER 30%*1000 300 ol
29 ERE 7% (KR HA&ARAE fmiei RAK 30%%1000 300 2
30 U %% (JKR) BA&ARAF ERARRER 30%%1000 300 L
31 F W 7% (JK) HRABHRAE fwie i RA K 30%%1000 300 21
32 BN g% (&) HA&ARAE BERRER 30%*1000 300 b
33 EAS S 7% (JKR) HRABHRALE BRHAR R LR 30%%1000 300 21
34 el £¥E (K BASHRAF EREERRER 30%%1000 300 ol
35 fHL R 7% (JK) HRABHRALE BRLR AR 30%%1000 300 2 I
36 BT £E (JF) HA&ARAAE TR R ER 30%*1000 300 ol
37 x| £ 7% (JFR) HAGARAE fmiei RAK 30%%1000 300 21
38 =H 2E (K HASHRAT ERARRER 30%%1000 300 L
39 e % = 7% (JFK) HAGARAE e TR IT 30%%1000 300 2 1
40 B Bk 7% (JFK) HA&ARNE #REERIT =R 30%%2000 600 b
41 Fi 7% (JFK) HAGARAE EEERIT =% 30%%2000 600 21
42 K E 7% (JK) HARARAE #RERIT =R 30%%2000 600 ol
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REHX (FHEE) 2023FE B =FFNRBHRREALHEL L

F% | #4 ExY: wAxn | e [T s
43 AR 7% (K HA&ARAE #REERIT =R 30%%2000 600 Z b
44 HEH 7% (KR HAGARAE RERIT =% 30%%2000 600 2
45 7R 7% (JFK) HARARAF #RERIT =R 30%%2000 600 L
46 FHRH 7% (JFR) HAGARAE EEERIT =% 30%%2000 600 2 1
47 FHRL 7% (JFK) HARARAE e REEEIT =X 30%%2000 600 2k
48 HE= 7% (JFK) HA&ARAE EEEIT =X 30%%2000 600 2 I
49 X 8 7£F (JKR) HA&ARH ERERT=% 30%+2000 600 Z b
50 BHIL 7% (KR HA&ARAE EEEIT =X 30%%2000 600 2
51 VTS FALARE S AK R A F #RERIT =R 30%%2000 600 L
52 AN | ABEFESE (P ARAE ﬁﬂAﬂif%ﬁW 30%%1200 360 “®r
53 BT WA FAE (Pl ARAE MAET =% 30%*2800 840 Z&T
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